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age = 17

O if age >= 18: ) i
/ a|erin’t("You are old enough to vote!")

print("Have you registered to vote yet’?f) |
@ else: |

print("Sorry, you are too young to vote.

print("Please register to vote as soon as

If the conditional test at @ passes, the
calls is executed. If the test evaluates to Fal
cuted. Because age is less than 18 this time,l
the code in the else block is executed:

Sorry, you are too young to vote.
Please register to vote as soon as you turn 18

This code works because it has only two po
a person is either old enough to vote or not old
structure works well in situations in which you y g
one of two possible actions. In a simple if-e e
actions will always be executed. '




our admission cost is $25.")
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